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= (ax+bx + c) - (ax + b)(x+ 1)

(ax
+

+ bx + c)

= 4-2b + c -[t4a+b)(-]
(4a - 2b + c)2

=> 4a - 2b + c - 4a+ b = 0

- b + c = 0 = b = C

=> al-y)" + b) -1) + b = 0

(a + 1b = 0

a + 2b = 0 = b = - q

subm (-b ,-) -=h

4a - b = 9

4a + za = 9

a = 2
,

b = - 1
,

2=



Let O be the angle between a andI

sino- b . b = (b) = 9

(b) = 3 = 16ko
= I

: 0 = 900

↳



a
,

b
,

C EIR

z + nz + bz + c = ((z +1 -(i)(z + 1 + 2i)](z -3)

= (( + 1) - ((i))(z -3)

= (7)+ 2z + 1 + 4)(z - 3)

= (z+ 2z +5)(z - 3)

compare z: a = - 3 + 2 =

z' : b = = 6 + 5 = - 1

z0 : c =
- 15

#



-

-
(- x+ 5x+ 6)(x)(x+2) > o

(X - b)(x+ 1)(x)(X+ 1) = 0

ju

-2X2-1 or 0x16

o < IX)[6

-6 X16 ,
X70



= 18
ar = 3

a = 18-18r (18-18r)r = 8

54r2 - 54r3 = 8

27r3- 27r" + 4 = 0
#



From G . C .

v= -5 or E (rej : r 20)

a = 18(5) = 24
*

80 (18 - Eur)=

=
= = 1-

From G . C . K = 4
*



= Exe** I ,

= be when x=1

y = ze+ a

Eqt of tangent : y-(eta) = be(X-1)

y = be(x - 1) + Je + a

= e(bx - 4) + a

p = 5
, g

: -4
,

v=1



a= 42

Area = Side* + 4edx - 1(1)(6e)

= 5 . 4 (1 .dp)



cos(fr-1)0 -
cos (2r+ ) O

=

- 2 sin()0sin() 0

= 2 sin(r0) sin0

IsinOsinPro)= f(a--f(

·
= 10s0 - cos((2n+ 1) 0)

: sinGro) =

100 - cos((2n+ 1) 0)
2S14 O #



sin()=(

! (E - E) = 0

=[( - 10s(24)) = GI(E - 0) = 14

& (E -1-))= 53/2



=-sin(1-e)(-2)

A = - cos(1 - e
- )(4e

*

) + (-4e
*)( - sm(-e

-Y)

= - 4ye
*

+ 2(a)
= (( * - (ye

*x) -
: k = 2

= 2( -[R)e* + 4
* (2y)])

when x = o y =/ =0 =-4 =
= 24

y = 1 + Ex+ X3+...

= 1 - 2x2 - 4x3 +...



(a + bx)
"

= a (1+ x2)
= a
- (1 + (-z)(x) + .. )

= in-

:a= a= 1 b = 4



* = 6 + +2 = 2t + 6t

=

= +un 60
°

= 53

X = 9 +25 y = 3 + 65

P(9 + 253 , 3+ 65)



Area = So y dy

= ( (+2
+ 2 +3)(bt +2)dt

= C 6t + 2t + 12t
"

+ 4 dt

= [Et + It
*

+ E+ ] :

= 3 + 40+=



i= 4+

1 x = findcu = 4

=/ an

=S du
a snown

Y X = 2
M

-

-

=&--
-..... 11 in 703x
(0 ,-i) -

-

-

=&-

-

=



R = S
.

"ax - <(b)

=
= 2+

= [2n+] -
3

=
14 + 3(() - (0 + 3m)-)) - 3

= 1 + 3(n = - 31nt

= 1 + 3/E a = 1
,
b = 3

,
C = 55

Vol reg:f ax - + (b)(6)

= 11 . 04 units"



=+ av = 98

5 + 2 . 42 = 9 . 8

h = 2

+ 2v = 9 . 8

= 9 . 8 - 2

Ser dr = J at

- In 198 -2v) = + + c

9 . 8-2V = Pe
--

where P = Ied

V = 4 . 9- AetA : Ph

t= 0
,

v = 0 A = 4. 9

: V = 4 .9(1-e2t) : A = 4 . 9 B = -2



V = 4 .9)1- e2)
* = 4 .9-4 .9

it

X = 4 .9t + 2 .45e2t + a

t= 0, X = 0 C = - 2 .45

X = 2000 t= 408 . 6 = 409s
#



let closest point beFF = (i)
Let air traffic controller be A on = 100

.

1)
=(x)

() (j) = 4 + x - 3 + x + 18+

6x = - 2 . 8

X = - 7/15

=(
coordinates (E ii)

IAF) = 1 = 4 .9 cannot see



- L = z-k

= l : r= (3) +c)

suppose intersect : 4 + x = E + E2

- 32 + x = - E - D

3
x = B/z

3 - x = - 1 + 2

- 2 - x = - 4 - -
X = 75

1 + 2x = k- 2

14 13
It - + 5

= k
5

k = 1 % for aircraft & drone not to intersect

KEIR)[}

coo
0 = 72 . 70



dist :1 = 1

= ()()(2) = 1 + 1 - 3 + 0

(i) · (2) = z - 11 + 4 + 0

No .


